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Read the following passage and answer the questions that follow.

Opera refers to a dramatic art form, originating in Europe, in which the
emotional content is conveyed to the audience as much through music, both vocal
and instrumental, as it is through the lyrics. By contrast, in musical theater an actor’s
dramatic performance is primary, and the music plays a lesser role. The drama in
opera is presented using the primary elements of theater such as scenery, costumes
and acting. However, the words of the opera, or libretto, are sung rather than spoken.

1) What are the different elements of a theater?
i)  What else is conveyed to the audience apart from music?
iii)  What is libretto, how is it different from speaking?

iv)  How is a musical theater different from an opera?
v)  Give the antonym for ‘contrast’.
Read the following passage and answer by choosing the right answer

Dolphins are regarded as the friendliest creatures in the sea, stories of them helping
drowning sailors have been common since Roman times. The more we learn about
dolphins, the more we realise that their society is more complex than people
previously imagined. They look after other dolphins when they are ill, care for
pregnant mothers and protect the weakest in the community, as we do. Some
scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any
of there mammals be more intelligent than man?Certainly the most common
argument in favours of man’s superiority over them, is that we can kill them more
easily than they can kill us is the least satisfactory, on the contrary, the more we
discover about these remarkable creatures, the lees we appear superior when we
destroy them.

1)  Itis clear from the passage that dolphins
a)  are the most powerful creatures that live in the oceans.
b)  Have a reputation for being friendly with humans.
c) are proven to be less intelligent than once thought.

d) are capable of learning a language and communicating with humans.
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b)

i1)  What is the antonym for ‘complex’?
a) intricate
b)  complicated
c) multiple
d)  straight forward
iii) The fact that the writer thinks that we can kill dolphins more easily than they
can kill us
a)  proves that dolphins are not the most intelligent species.
b)  means they are better adapted to their environment than we are
c) does not mean we are superior to them

d)  show that they have a sophisticated form of communication.
iv)  what is the synonym for ‘superior’?

a) Lofty

b)  humble
c) inferior
d) modest

v)  One can infer from the reading that .
a)  dolphins are quite abundant in some areas of the world.
b) it is not usual for dolphins to communicate with each other.
c) dolphins have some social traits that are similar to those of humans

d)  dolphins have skills that no other living creatures have such as the
ability to think.

a)  Correct the following sentences.
1)  why did you not threw the bag away?
i1)  the intruder stood quietly for few moments.
i) He found the gold coin as he cleans the floor.
iv)  She cooks, washes dishes, does her homework and then relaxing.
v)  They are not beware of all the facts.
Rewrite as directed :-
1) Sumith picked up the shoes .
(Change the Voice)

i) The boy was diligent, so the teacher praised him . (change into simple
sentence)

iii)  Their family went to kerela for a vacation. (add a question tag)
iv)  She said, It is really sultry today.
(change into indirect speech)
v)  susan has finished her homework.
(change into negative sentence)
Change into direct speech :
1) She said that she failed the exam.
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d)

g)

h)

il)  Raju told me to clean the room.
Fill in the blanks with correct forms of verbs given in the brackets.

1) The doctor told him to stop (smoke) and take a trip.

i)  They (come) here next week to visit my new office.

iii) I am tired of (work) here.

iv) I have decided ( study) more and improve my overall average.
v) Couldyou  (help) me please?

Fill in the blanks with suitable words given in the end.
1) The roof on the house .
i)  did you the mistake in your homework?

iii)  The house along the trail.
iv)  The lightning the tree.
v)  She for her friend at the mall.

(Struck, fix waited, leaks, trotted)

Rewrite the following set of jumbled sentences to make a coherent passage.

1) She wanted to serve mankind.

i1)  She took birth on August 26" 1910 at skopje.

iii)  She served the poor, diseased and needy people of the Nation till her last
breath.

iv)  Mother Teresa’s real name was Agnes Gonxha Bojaxhiu.

v)  On December 1, 1928, Sister Teresa went to India.

Write three exchanges of dialogue between a teacher and a student requesting for
leave.(3)

Write a paragraph using the following units.

new neighbour -name -age looks -family background-vocation-peculiar habits - How
others view him/her - Attitude to life - Your opinion about person.

Write in about 100 words on the following.

i)  Effects of not getting enough sleep.

i)  Why reality shows are popular.

iii)  Effects of computers on our daily lives.

Write an essay on the following.

a)
b)

c)

Bring out the humour in James Thurber’s “The Topaz Cufflinks Mystery”.
Justify the title, “Blood, Toil, Sweat and Tears”.
Summerize the prose “A chat with Mrs. Smiles”.
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Q1) Write short notes on the following

02)

03)

a)
b)
c)
d)
e)

What is the central theme on “Sonnet to Science”?.

Summarize the poem “Tables Turned”.

How does the poet persuade us against deforestation in the poem “On killing a tree”.
Justify the title, “Laugh and Be Merry”.

Describe Milton’s reflection of himself in the poem “On his Having Arrived at the
Age of Twenty-three”.

Write an essay on the following.

a)
b)
c)

a)

b)

Describe the deceit and deception of vera, in “The Open Window”.
Discuss the appropriateness of the title, Lemon, Yellow and fig”.
elaborate on the hardships faced by the old refugee.

Explain the following :
1) come then, let us go forward together with one united strength.

i) ‘I made some money yesterday’ he explained. ‘Now you will be paid
regularly’.

iii)  We owe that miracle to science ; and it is a miracle.
Explain the following :

1) The song of her whistle screaning at curves of deafening tunnels, breaks
innumerable bolts.

i)  God made heaven and earth for joy he took retryme made them, and filled them
with the strong red wine of his mirth.
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Describe the status of people in the rule of Dasaratha?

GIRER I YSTlal feeife] fagup 2

Explain the Qualities of fools as described by VIDURA in 300 words?
HEICHoT fAG0T TR FPfor Bifel ATUTeT JTOIdTIo1? ATfel 300 FAUGY faergad 2

Describe the words of the bachelor to divert the mind of Parvathi?

UTdedT: Hel: foradRq Sifecisiidantor ageiier faguyd 2

Write in brief the story of Dasakumara Charita?

GAGHRANIRY Ufead &I forera 2

Describe the six seasons as per the prescribed Text?

UTGIHTSHORICY ¥ge Jurad ?

Write the story of “Mritojjeevanam”?

Aallooliael AHATARETS fored 2
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Q1) Answer the following with reference to context.

02)

a) 19T FAJLTSY: AHAGUNTH: |
b)  geeRerRiceT Fuae uferR
¢) o SIafel Aol a1 Afeoid W

d)  JwrEh: FdeHoT|

e)  RRERE: THTIHET I

f)  oHLMAYR of JaAfceh|

g) forfdfsonfd Fdfor sefear madt wom|
hy 3T Prefel GRIpadeH! qAH|
Translate into English or Telugu :
STCEHTSIRIT T FTFeTHTSRIT 3T 3fojaad |
a) IR P o SAlelfod Hoxl a1 AfoId, R

b)

d)

PARARY STToffod A & AfvSd T2 ||

3T STSMIepoT TR =T < AT
Srafrarf wafe: gfvsare a9d J: 11

JAR peafer A7 fAfped |
feR M fersrrl 21 @t s ||

31eTTEa: SfeIfe Jrgeet agHT |
e feafifer Aeaar sRieH: 1|

DSANI(NR)



03) a)  Write the forms in the other numbers of the given persons

TIGDIY, ETBITIOT ford |
1)  sfasafer 2)  3eTEq
3) fassg 4) R
5 3 6) HiGdH
7y od 8)
b)  Decline as per the case ending.
1) gaq 2) HA
3) el 4) fUaw
5) I 6) I
7) AR 8) o
¢) Combine Sandhi’s.
1) A+ st 2) od + 3gd:
3) qUAr+0d 4) A+ 3mE
5 Ut + 3 6) g+ Sl
7) 9% + AIH 8) 3 + 3fech:|

d)  Dissolve the following :

1) forsame 2) ST
3) W@W 4)  Sigd:
5)  3fsiaR 6) PRI

7)  oftarom 8) JEE:|

N
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04)
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a)  3MTel B Tl Ut 2

b) ool 3R Serfel

FeTeit BT AR fIdmarat afsa faflae|
a) 3TGH &I T
b) % & gEdl
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Q1) Economic and Non - Economic activities.
0% 5000 egEBS STgETred.

02) Consumer Surplus
DABIHTEI QoI

03) Exceptions of Law of Demand
A5rod S DTB00oDHW

04) Income elasticity of demand.
oAb G5l TS HE0

05) Price discrimination.
aleRInttac!

06) Quasi Rent
5O greaso

07) Per Capita Income
BOH0 eTPAo

08) Balance of Trade
HEE DB

09) Distinguish between Micro and Macro Economics. State their significance.
SUEPRAFICIVELR VS @Cg%@“@ 50655 110 S5Tgry $90y00, 73 (rrE00g)gEy e

010) What is price elasticity of demand? Explain the  various methods of measuring price
elasticity of demand.
B8 G370l T5EHB0 GBI ? IV $oB0Y DEBERB DBBODB0.
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Explain the determination of equilibrium output and prices of firms under monopolistic
competition?
D505 S’ 950F 050 50050 (56 AYAHOB> HE 80800,

What are the causes and consequences of business cycles?
TGS BEe0 DTS SETL 5500 Ted $od SR H0eTETem DH00DL.

Explain the applicability of law of diminishing  returns in Agriculture and Industry?
$o (BP0 DTToBB0D D00, Bd BEHIAD $0abe FOFAE Sorod’ BIBY TR,

SO0,

Explain the cost - output relationship in the short - run and long - run.
Qgy 0B (‘5g3°®oés D — H500 [oLIOHPOR DXO0D[0.

Define monopoly? Explain the equilibrium of the firm under monopoly.
b§3“583358300 96530@83&)? N 3‘583\)555&)68 ééﬁo@t’@?so 70000 D009

What is National Income? State different methods of measuring National Income.
20D LITPOHO0 BHTRAL? 2PHOL eraiTy B3 VG DG B0

Explain the modern theory of wages.
BPES IS TS0 H00D HO0HD.

Briefly explain the role of WTO in promoting International Trade.
SoSTHAD TGS eONAE AD FE> BT JBoBo
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Accounting process
eoedoh (Pdah

Suspense account
Q9P PPBP

Cash discount and Trade discount
SIS BRI, SE8D G0N

Classification of Accounts
PT0 Q56

Rent paid in advance Rs. 700, O/S wages and salaries Rs. 1,200 and 15,000, depreciation
on building 2,000, on furniture 1,500. Pass adjustment entries for above transactions.
So0osor BOoDD @3 EF. 700, IDoTTERP ITren So0As dores S 1,200 $o0AH0

15,000. 350°0 > SEE® 2,000 ;ﬁ&sé 1,500. 2 NRVOROLSESSRVOVVIATRLIAbSY EeaoG.

Difference between Joint venture and consignment.
55D 00658 639G 5o Soggie S5 Beod.

Parties of bill of exchange.
ALY o3w§bﬁ°§®o

Types of provisions and Reserves.
DG T DTPyEss (e ) 5000k Bestiogew

Explain the advantages and disadvantages of Accounting.
©Zoedoh GBo%) o8l SaLeds D000,



Q10) Journalize the following transactions.

2015

Mar. 1 Mr. Prasad commenced business with cash 50,000
2 Deposited in bank account 15,000
5 Bought furniture by cheque 2,000

8 Sold goods to Aruna and Co. 2,500
10 Paid Karthik by cheque 925 discount 75
15 Cash sales 25,000
18 Withdraw goods for personal use 500
25 Paid for advertisement 500
28 Withdraw from bank for office use 1000
31 Received commission 1,500

&3 (08 JgOTForOEd DeTHEROK0 (PO

2015
508y 1 BFE 50,000 08 T5IT0 (FPEONONTE
2 e rord” Arees T0DB. 15,000
5 DTG0 $0)EG Toien 2,000
8 e wobk T 5 elyd Sthkes 2,500
10 5705 % 3% o700 BDoDBO 925 FND GAeS 75
15 SNEO @y5°ed 25,000
18 TPoTrS SCEGy D0 500
25 (PEL0E IYoIXE 500
28 @i @Nore QB0 ergotd Koo BLHH 1000
31 Sy 50BS 1,500
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Q1) Prepare a three column cash book from the following details.
2016
April 1 Cash in hand Rs. 1,200, Bank overdraft Rs. 4,200

02)

N

o W N =

Cash sales Rs. 6000

Deposited in bank Rs. 6,200

Cash received from Ajay Rs. 3,500 discount allowed Rs. 500

A Cheque for Rs. 2,980 received from Krishna full settlement of his account
Rs. 3000

15 Cheque of Krishna Deposited in bank

18 Cash withdrawn from bank for office use 1500

25 Dividends collected Rs. 2000

28 Goods purchased on cash Rs. 1,200

30 Cash in Excess of Rs. 200 was deposited in Bank.
BI035 3N IO 5055 SO BT DeF SO FoHod.

2016

1

1

2

S

8

3B ik EF 1200, ergo 296ER 6T 4,200

QN0 @939 5°00 65@5 6000

ergond” GreeS SO 8T 6,200

92203 00Ck FINVD ST 3,500 JV)S GO 8 500

HRS0G TBORS 3,000 J00TEIE 3J°G DO DS BE), 8T 2,980

15 ergoHE Gree] DS §0.3%,

18 €910 &5GIrHo ADBO ergoH oo SRS 1500
25 STTS EAGE & 2,000

28 SHEK B Fofes 6F 1200

30 PgoE” Arees IS G 200 K03 IS S Je.

From the following particulars prepare bank reconciliation statement as on 31*
December, 2015

Bank balance as per cash book was Rs. 15,000

Cheques issued but not cashed prior to 31¢  December 2015 amounted to Rs. 2,000.
Cheques paid into bank, but not cleared and credited Rs. 2,800

Cheques received but not sent for collection 500

a)
b)
c)
d)



e) Credit side of bank column cash short 50
f) Insurance premium 300 debited in only pass book.
g) Bank charges debited twice in the passbook 10.

h) A customer directly deposited in the bank  account of concern was Rs. 2,000.
G08 $555550r0 $00& 31.12.2015 & 505 Do HSB0SODH 5630 SAEH> BAod.

) SO DB (H5°E0 ergotd e 65@5 15,000

D 20 DS 31.12.2015 738 Trpen 0 Do EF 2,000
D) Greged B Ko oS BT SO & 2,800

D) DS DL 0T 5oL HOHBS EF 500

D) BCed DS &5 DB 50 BENS ErGIEL.

2) DI EAAHO 300 T HVES” STSD> B BowSd.
2 R DBEes’ Bocd 82 G5 e90008 250 PENL 10
L) 28 PTTCE H0P e FR8 JEorw woBdIO 2,000

03) Discuss the importance and purpose of final accounts.
$500A0Y BEY ErE00grgd) ared S0y SOyoto.
04) Onl-7-2014 XYZ & Co. Purchased a machine for Rs. 75,000. On 30 - 9 - 2014
another machine was purchased for 40,000. The company sold the first machinery (i.e. 1 -
7 - 14) due to obsolute for Rs. 25,000 on 31 - 12 - 2016. On the same day they
purchased another machinery for Rs. 35,000. The company closes their books on 31
December every year. Prepare machinery account for the year ended 31 December, 2017
assuming the depreciation was charged on fixed installment method @ 10%. P.A.
172014 3 f* ©0& § 25 Ao ) 6F 75,000 0% Fof'es IV, 30 - 9 - 2014 5 358
AOEFR) ET 40,000 O ER0R 00 B0, 31 — 12 — 2016 & 00853 adoo (1-7
— 14) 93 RO T ST 25,000 O SART0. @8 BOD 0TS Ao & 35,000
o Fofien BT T B HodE o Eoath 31 & FEred SRS YUT0RTe DK
BSS0 SEHE0H DOYEN B, HoSHTAS 10% S0 AT DT 31 Gowd 2017
& eoBBoaly K05H10VE ChOo FEss BAITE: BAbod.
05) Following is the Trial Balance of Sairam as on 31% March 2017. Prepare Trading and
Profit and loss account and Balancesheet.
Capital 1,00,000 Drawings 18,000
12% Loan from Ajay 15,000 Buildings 15,000
Commission received 4,500 Furniture 7,500
Sundry Creditors 10,000 Motorvan 25,000
Discount received 3,000 Interest on Loan from Ajay 900
Sales 1,00,000 Purchases 75,000
Opening stock 25,000 Wages 2,000

Establishment exp. 15,000 Sundry Debtors 28,100
Bank Balance 20,000 Insurance 1,000



Adjustments :-

a)  The value of stock on 31.3.2017 was Rs. 32,000.

b)  Outstanding wages 500, prepaid insurance 300.

c)  Depreciate buildings at 10% and motorvan 20%

d)  Provide reserve for bad debts at 5% on debtors.

31.3.2017 o3 0200750 GBY, (G0 ©OSET K008 SUED CrHELe T, el 6o 5630

BOITED AL,

SOTOEN0 1,00,000 JP0es PESPR0 18,000
12% €923050 5006 220089015,000 PINTIEIOY 15,000
S0P BRI 4,500 36156 7,500
DS 200£3T° S0 10,000 37¢5 TS 25,000
SO e 3,000 €2305 200830 I :)Sc,f‘g 900
PRSSCN 1,00,000 SEoR'% 75,000
PrSogs HEE 25,000 RST0e0 2,000
b;o“aé PO 15,000 DAL 220003 28,100
250 Doy 20,000 DI 1,000
66825"838 :
D) 31.3.2017 T°¢38 [E0Z Do &3 32,000
WD DDoIBedD IBres 500, Sovoorr BOoDD LB 300
D) PITO D2 10% S00ad 30700 TS 2 20% SEAHE
D) e00ea(ie o erdo 20 DO 5%
06) Vikas draws a 3 months bill on vishal for Rs. 4,000 on 1.4.2012. Vishal accepts the bill

and sends it to vikas who discounted it with the bank for Rs. 3,940 Vikas sends Y4" of the
amount that is Rs. 985 to Vishal. On the due date Vikas could not send his amount to
Vishal and Accepts a bill for Rs. 4,500 for 3 months which is discounted by Vishal for Rs.
4,440 Vishal Sends Rs. 330 to Vikas. Before the due date of the second bill, Vikas
becomes insolvent and 25 paise in a rupee was received from his estate. Give journal
entries in the books of both the parties.

1.4.2012 & I5°0 D776 2 EF 4000 5 3 00 5006 @G, DTS T ?ocs%é’B 30D IS

DO, I TRV GF 3940 B ergond GPeS Tred ITH D 5 Doy W U 985
DEG Sorek. 1D BOD ITT T FIHEV FBayy ITE & 038, DTS TV OF
4,500 © 3 RO TVoRd ITH MO BOF. TS eIV eroHe” EF 4,440
GRS B2 8T 330 TR BT, Te BoS 52008 &0 BOE 503063 =0 Brer HIE.
@B &5 S00c STr0a08 25 eV THIB0 WONA.

330 BT DeT DD FO0OG.



07) Rectify the following errors by opening suspense a/c wherever necessary.

08)

a)
b)
c)
d)
e)

Sales book under cast by Rs. 200.

Goods purchased for Rs. 1,000 recorded through sales book.

Furniture purchased for Rs. 12,000 recorded in purchase book.

Goods sold for Rs. 2,000 to Kiran were posted to the credit of his account.
Cash received from Gopi Rs. 1,000 was not entered in cash book.

Bob S5ypei GBIERN T ST PIT° TPC° BHO0BOG.

)
9
@)
)

D)

GV TO HIEI0 ST 200 SR STDVeEIE.

Fofien TP HE0% 5F 1,000 w350 HPES” SIFG FEI0.
T0R @0 T2 HOYH 83 12,000 Fof'en HP5os’ $373od.
30655 @S HEOE ET 2000, 9SG grard BEeS I,

7 5006 SOy eSS BT 1000 Hes> D58 SIFEsB.

On 1 - 1 - 1992 Bharath coal company Limited consigned to Kalaram of Kurnool. 1000
tons of coal, The pit cost of the coal being Rs. 100 per ton. The company paid Rs. 10,000
towards freight and insurance. Kalaram took delivery of the goods consigned on 10%
January 1992 and immediately accepted a bill drawn on him for Rs. 50,000 for Two

months

a)  On 31 March 1992 consignee reported that there was a shortage of 50 tons of the
coal.

b) 800 tones were sold at Rs. 130 per ton.

c) He paid godown rent Rs. 500, Insurance Rs. 500, and selling expenses Rs. 1,000

d)  He entitled to a commission of 4% on the sale proceeds. Show ledger account in the

books of consignor. Assuming that the consignee remitted balance due by a dratft.

1-1-1992 & g766 &7 502 T, SETEED 500 1,000 €500 7555 ESDEB00e0
2 DOV, (O By R POL BT 100 (P AFoowoDD. o2 T DYoDD 2e5 BBk
ANl PENEO EF 10000. 10-1-1992 & 500 BEEI DEH0SED 8F 50000 ©% To
S0 Heg D oS0 BT 0. 31-3-1992 55°C°0 (308 Gorr BDALBEAOLTE.

)
9
@)

?)

0550 DoBE0 BBk BoBL0E” 50 €50 &1 §E 00 BV .
800 EOINODO LN ST 130 7 5350 B¢,
8¢ DYODD PBNLO &8 DGO &0, AGoR 6 ST 500 Y EF 500 B3RS
PEN djq: 1000.
@ISO SRPE) 2 T TS EWHS 4%

05 5000 DITE ESSootn PEE, IS PT o BNt S0 BDoBHeds
JOGH00RD (TR DOV,

640



DBCO14

ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2020
First Year
Quantitative Techniques - I

MAXIMUM MARKS: 30
Answer ALL Questions

Q1) Limitations of statistics
ReT°057°g HOJoBoed

02) Schedule
3)\6@?5@3
03) Concept of skewness
?_Z){;ﬁo?so o3w§b 20
04) Define correlation
Q5PR02I0E08 ASWoWK00
05) Regression equations
(EIBNKE0S DAIPETEIS000
06) Good average
3000 e

Q7) Any three types of sets
$ood’ DB o 5w

08) Meaning of matrix
BT A%, g0

09) Find out median from the following data :
808 SEroFBa8E Jo¢S5HSH00 SSON S0G.

Class intervals : 0-200200-400400-600600-800800-1000 1000-1200
(SERE e90&T°e0)

Frequency : 80 165 230 80 32 13
(FeD550)

010) Compute standard deviation for the following distribution :
808 &5°07°08 (FPHTedE DIodto oM S0d.

Wages (Rs.) 9 12 15 18 21 24 27 30
Searen

Workers @oseo: 20 60 150 250 200 120 50 40



DBCO14
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2020
First Year
Quantitative Techniques - I

MAXIMUM MARKS: 30
Answer ALL Questions

Q1) Define statistics. State the characteristics of statistics.
w0l 77 ) AEGDOD, OFETOR B0t

02) Find out the co - efficient of skewness from the given data :
8od STroF0 $o0D IVK0§HEITO B Pk

Size (X) 3 4 5 6 7 8 9 10
® 7 10 14 35 102 136 43 8
03) Explain the types of correlation with examples.
D5R0800808°R) BEOB EIETEE0sS 500508,

04) Calculate co - efficient of correlation fromthe  following.
o8 BBPTE0 B500D) DIPR02I0E MKOEsE0 ESoR"Hoc.

X : 100 110 115 116 120 125 130 135

Y 18 18 17 16 16 15 13 10
05) Briefly explain the following :

8o 73 rs3one DI0oWOC :

a) Mode
b) Probable error
¢) Union of sets
d) Ven Diagram
a)  erTOFEID
b) Bogrige 0
c) DB $Ayehso
d) S JBHeoo
06) Find the two regression equations from the following.
808 &8°0%80 5000 Bk (EINH0R DATECETOR FPHOWOG.

Xx: 1 s 3 2 1 1 7 3
Yy : 6 1 o0 o0 1 2 1 5



07)
IfA={2.4. 6} B=1{1.3.5.7} C = {6. 7}. then find

a) (A uB) uC

b) A U(BUC)

c) (A UB) nBuUC)

d) (AnB) uC

A =424 6}B ={1,3.5, 7} C = {6. 7}

BABLORDABTA0D Eod T°e3 Kedoodt.
a) (A UB) UC
b) A UBUC)
©) (A UB) NBUC)
d) (ANB) UC

08)
For 2 matrices A and B

A [1 2} 4 5 g
= and B =

3 4 [9 m}
i) FindA+BandA-B.

i) Calculate AB and BA and Verify the result
AB=BA

640
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DBCO15

ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2020
First Year
Computer Application (Comp. Fundamentals) (Paper - I)

MAXIMUM MARKS: 30
Answer ALL Questions

What is a computer? Write about the advantages and disadvantages of computer?
50377506 TR 7 Eo:r5ead Goot), HAraTrery, HOABIOD DS00H0E?

Describe network topologies?
36538 S redeoss HBoD DSdoUed.

Write about the advantages and disadvantages of internet banking?
5026365 ergo8ohi GBo%) PATETred Hodakw HOAED VOB

Describe the services offered on Internet?
3033)e5 555 G50 09T W B SdoSod.

Explain machine language and assembly language high level languages.
02 Sronge H5oB0%w @?oo%) gronseo 00D DHB0E0G.

Explain the functions of hardware components commonly found inside the system.
20 E00 T EE0NT EIDOB FEEIE e oot 3050 I900B0d.

Characteristics of a computer.

5oy7geab ool oFETen
Software
3“%35

Security risk
2577503 risk

Q10) High level language

&5\ 02 g7,
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02)

03)

04)

05)

006)

07)

08)

9)

Q10

ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2020
First Year
Computer Application (Comp. Fundamentals) (Paper - I)

MAXIMUM MARKS: 30
Answer ALL Questions

Output Devices
95965 $88Tre

Write about network protocols.
35358, e’ sy (00D Eabod.

Online payment system.
©SOBS 2F00eS VP
Fax

5

Scanner

56

WWW (World Wide Web)
@oééq;@o

Program

Gl

ROM
o

Paytm
2630530

Hardware

5536
L 2 X X/
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